Chapter 3 Review Name:

1. If p(t)=-2(r-3)(t+2) is quadratic, then it can be written as
p= =2 P+ 2 t+ /2
the blanks.

-2 (£~ (4+2)
=3 (¢ 2 ¢-¢)
—atte2e t>

. If p(¢) is not quadratic, enter "DNE" for each of

2. The height of a baseball in feet 7 seconds after it has been hit is given by
y=2+35-16¢".
a) What is the height of the ball 0.2 seconds after it was hit?
b) When does the ball hit the ground? (If necessary, round your answer to three decimal

laces
places) w2 550 e) Hlo)”® 0= 2+35EVt " —ﬂ_@?
j:,z+7’/6('°") o= -l € L —32
= - -3521Y 3¢ ?—-9/(46)(2) L= 2. 2%3 S'c’cw@/s
j - 9.30 . -
2(-1s)
—3s+Vizes + 127
3% o W
—32

3. Let f(x) be a quadratic function which has y-intercept 30 and has zeros at x = -2 and x =
5. Then f(x)= -3 x*+_ 9

=a (X-PZ)(X"S—) 3
30 :Q(O'f'}')(a-{)

30.: -loa
=3 14

x+ 30 . (Solve algebraically.)

!

,3()( +2—)()\’5’)

-3 xZ3a-10)
= ,3X2+‘7)(+30

1]

4. Find a formula for the quadratic function which has only one zero at x =3 and contains

the point (2,-3) 4 /x-3) z (3,0 vermex)
—3za (20"
~3=2a () .
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-4, -2<x<l

5. Graph the function: f(x)=<x+1,
x-3, 3<x<4

i

& ¥
- B - i
e

6. Find a formula for the quadratic function whose graph has axis of symmetry x=4.5, v -
intercept at y =7, and contains the point (3,-47). 720254 -47-2.25

’5"()( 4{) 1’-/( z s¢ = /82
7 o (-45) F K ~y720(3-1%) K 25 &
g =20254 +K 7 za(-1s) + K K =-97 -2.25(3)
7,520,};@'— /< "%/7:47-15’A ‘f'k kz ,6‘7’4<7r
7 -2 35~ K K:zgz.’ff
z —
B ~BY] =51V
= 3(x-45)
7. Which of the following parabolas have a vertex of (6,—6)?
@ y:—3(x—6)’—6 D) @[xl_/.zx ) +2z/o
B) y=4(x+6)" +6 b(x 12X *36) ¥2/0 it
0) y:—8(x+6)2—6 y-e (x-¢) -¢
,1::6x;—72x+210 g) //[/Y 2 /2% ) +/8"0 oy
E) yv=4x"+48x+150 /f/;rl+/}X+fé)F/50 -
g (x+e) 1
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8. The formula for the following parabola is f(x)=a(x— /7)2 +k,wherea= "z ,h=
J ,andk= 4 < .

y y<a ( x ,/,)/,}’ -0)
2.5:a (”‘)()/}

2.5 -“d(:’

Note: Figure is not necessarily drawn to scale.

9. What is the equation of the parabola that is concave down, has vertex (—1, 5) and contains

the origin. _e(xwr)+s o
{=ﬂ[ﬂﬂ)z*§ J° i P

o= /1a*rS
-

10. Find the vertex and azis of symmetry algebraically for the function r(7) = 5¢% — 507 +130.
s(eFme )00 )
5 (2 %ot 125) 130 i Vern7 & (ﬁf
S,Zt,;)zfy A0S X=§
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11. The following figure gives the graph of y = f(x), a quadratic function with vertex (2, 1)

The formula for f(x) is v= ar(x—b)2 +c¢, where a = Yo ,b=_ o ,andc=
Y

'

j y=flx) gra(x-2) "+l

3=a (4-2) 5+
= Ya +/
Ya

s G

t)

3
s
L
2.

ﬂ’é(’x-z)‘w

(2,1)‘

12. Suppose that f(x) is linear with an x-intercept of 2 and a y-intercept of 3. If

f(x)=b+mx ,thenb=__32

3
and m=-"=%

(2,9) [0/3/

m= 3-¢
ﬁ_ﬁx',:_} .
J=72 m=32
s =2
M = 2-

13. If f(5)> f(6.2), then the function must be a decreasing function.

A) True
B) False

True /‘n(;a/}, AM/’ ﬂ,% ,'7[ @/ﬂ/ﬁéd/al_
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